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SAP NETWEAVER MOCK TEST

Advertisements

This section presents you various set of Mock Tests related to SAP NetWeaver. You can download these
sample mock tests at your local machine and solve offline at your convenience. Every mock test is supplied
with a mock test key to let you verify the final score and grade yourself.

SAP NETWEAVER MOCK TEST

Q 1 - Which of the following user type is an individual user and is used for interactive system
access?

A - System

B - Dialog

C - Communication

D - Service

Q 2 - Which of the following are characteristics of enterprise services? (Choose two)

A - They are semantically harmonized across applications.

B - They can be easily used as imported archive objects.

C - They can be used to extend BAPIs.

D - All of these

Q 3 - In SICF transaction, ICF service is showing in the blue color. What does this represents?

A - ICF service is active and running.

B - ICF service is inactive and it has been deactivate explicitly.
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C - The ICF service is inactive. It has been switched from active to inactive because a superior ICF service
has been deactivated.

D - None of these

Q 4 - In ABAP+Java system, a SAP Web Dispatcher communicates with which of the following?

A - AS ABAP message server

B - AS Java central service instance

C - AS Java message server

D - Both the AS ABAP and the AS Java message server

Q 5 - What is the maximum number of clients that can exist in ABAP based SAP system?

A - 10

B - 100

C - 1000

D - 10000

Q 6 - Which of the following Transaction is used to configure Single Sign-On?

A - RZ10

B - RZ20

C - SU01

D - PFCG

Q 7 - Which of the following components get installed with installation of SAP ECC system?

A - SAP BW

B - SAP PI

C - SAP CRM

D - SAP ERP

Q 8 - Which of the following NetWeaver application allows you to create your themes that allows
you to adapt the visual appearance of applications?

A - Web Dynpro

B - UI Theme Designer

C - SAP BW
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D - SAP Process Integration

Q 9 - SAP Visual Business is defined as a tool that is used to visualize the data from SAP and
external data sources on a single screen?

A - True

B - False

Q 10 - To access Web Dynpro runtime environment and graphical tools in ABAP workbench, which
of the following Transaction is used?

A - SM59

B - SE37

C - SE80

D - All of the above

Q 11 - While installing SAP NetWeaver, which of the following parameters you have to select?

A - SAP system ID and database connectivity parameters

B - Master password

C - Encryption key for the secure storage (Valid for NW 7.4 or higher)

D - A and B

E - A,B and C

Q 12 - SAP NetWeaver is based on service oriented architecture SOA, which provides more
flexibility during implementation and system upgrades?

A - True

B - False

Q 13 - In SAP NetWeaver Process Integration, sender agreement is not required for?

A - JDBC Adapter

B - File Adapter

C - IDoc Adapter

D - All of the above

ANSWER SHEET
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Question Number Answer Key

1 B

2 A

3 C

4 A

5 C

6 A

7 A

8 B

9 A

10 C

11 E

12 A

13 C


